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Let X be a Non — Negative random variable with distribution function F, then
E(X) is equal to
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The Discrete Distribution function F(x)is a
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. Step function



_ Point function
2.

 Real function
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e Real valued function
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Let X be a Cauchy random variable. Then P
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% Laplace random variable

Normal random variable
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Logistic random variable

. Cauchy random variable
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E(X — k)7 is minimum when
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A box contains 6 red, 4 white and 5 black balls. A person draws 4 balls from the
box at random. Find the probability that among the balls drawn there is at least
one ball of each colour.
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In Normal Distribution, the probability has the maximum value at the
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Median

s

_ Geometric Mean
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ool Mean

. 3™ quartile
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The probability distribution of the ratio of two independent Standard Normal
variatesis a
Options:

Standard Poisson distribution

Standard Normal distribution

2.



~ Standard Binomial distribution
3. %

Standard Cauchy distribution
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A pair of dice are thrown , what is the probability that the sum of the numbers of
their two facesis 7 or 11
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The Characteristic Function of Exponential Distribution with parameter @ is
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If x is a random variable with Rectangular distribution over an interval [a,b], then
E(x)?
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If X is a random variable with continuous distribution function F, then distribution of F(X) is

Options:
i Cauchy distribution on [0, 1]

o Uniform distribution on [0, 1]
2. o

Normal distribution on [0, 1]
5 %

beta distribution on [0, 1]
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If X is uniformly distributed with mean 1 and variance g. Find P(X < 0).
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If X and Y are two jointly distributed continuous random variables with joint
density function f (x,y), then marginal density function f(x) of X is

Options:
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The probability distribution which is used to estimate number of fish in a pond is
Options:

" Binomial Distribution



Poisson Distribution
> ®

Geometric Distribution

¥ Hyper Geometric distribution
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Bayes theorem is used to find the probabilities
Options:

| Posterior Probabilities

., Likelyhood Probabilities
— Prior Probabilities

e Addition Probabilities
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The relation between Mean (M) and Variance (V) in Negative Binomial
distribution is?
Options:

e M>V
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Binomial distribution converges to normal distribution if p is nearly
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The Characteristic Function of Standard Cauchy Distribution is
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If X, ~G(ay, ) and X,~G(a,, B) , X, and X, are independent random variables
then the probability distribution of X; + X5 is
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Let X be a random variable with mean p,, and variance g*. Using Chebychev’s
inequality find P[u, — 20 < X < u, + 20]
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Sum of independent finite number of Bernoulli random variables with constant P’

gives the distribution

Options:
Geometric (p) distribution

Bionomial Distribution
o o

~ Negative Binomial distribution
3 ®

Poisson distribution
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Mean = Variance in distribution
Options:
Exponential distribution
1,
Normal distribution
.
Geometric distribution
=%
Poisson distribution
4
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Correlation coefficient is the hetween two regression coefficients

Options:

Geometric Mean
1 o



Harmonic mean
2 -

Arithmetic mean
z B

Quadratic mean
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Limits of Correlation coefficient are

Options:
(0, 1)
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What is the relation between coefficient of Association (Q) and coefficient of

Colligation (Y)?
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What is the total number of class frequencies of all orders, for n attributes?
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Coefficient of association (Q) lies between
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If the angle between two regression lines is 8 = = then two lines are said be
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Perpendicular
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Ortho normal
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The absolute value of the correlation ratio can never be less than the

Options:

" Absolute value of Colligation

a8 Absolute value of coefficient of determination

» Absolute value of Partial correlation

> Absolute value of correlation coefficient

Question Number : 30 Question Id : 79840732185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



RIPR0806 DS AB0E), DG D Sofd DD B8 D S

Options:

. AT TP 00 ::13:1356 a5 m:uué;ﬁm

.i')gcﬁre:bés g hr - Fubb) cﬁ:uégj DE -;‘.u:uvé;‘.i.u
o

. a2 HITH0L0G0 CI0E), DO STFVLEN
=

- RATPR0206000 (DEIg ca:ugG :Jdmmg?g;hm
4. ¢

Question Number : 31 Question Id : 79840732186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The ratio of two independent chi-square variates divided by their respective
degrees of freedom gives the distribution

Options:

i F-Distribution
a t-distribution

~ x? - distribution
3. 3

N Z-distribution
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Which test is to be used for testing the homogeneity of independent estimates of
the population correlation coefficient?

Options:

Z —test
1
o t —test

. Chi-Square test
3¢

F —test
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The relation between t" and ‘F distribution is
Options:
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Vt=F
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If X is a chi-square random variable with ‘'n’ degrees of freedom , then its mean
and variance respectively are
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(n, 2n)

L.

2n
2 ® ( n,n)
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Standard error of sample mean is
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A estimate is a single number
Options:

Interval

i

Point

~ Real
3 ®

sl None of the given options is correct
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The Confidence Limits are the lower and upper limits of the

Options:

Point estimate
Real estimate
> ®

5 Confidence Coefficient

. Interval estimate
4 &
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Let t is a statistic and 8 is the parameter. If E(t) = 8 then £ is known

as estimator

Options:
_ Efficient
1. .

~ Unbiased
2 W

_ Sufficient
3

- Consistent
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For a fixed confidence coefficient (1-a) , the most preferred confidence interval
for the parameter ‘8’ is
Options:
shortest length
1.

Average Length
=

i Largest Length

ol None of the given options is correct
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If Ty and T, are two estimators and V(T;) < V(T3) then T; is known
as___estimator thanT,

Options:

L% Unbiased



Sufficient
2 &

2 @ Efficient

~ Consistent
4. ®

Question Number : 40 Question Id : 79840732195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

T; 208030 T, e o sotdarardanven 2daiw V(T;) < V(T,) ®ondind

T & T, Soé3 290t PG00 290

Options:

| % :)5.‘”;}3\5

DO
2

TG A0
3. *

 Qexse
4 #

Question Number : 41 Question Id : 79840732196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If sample mean and sample median are estimates of the mean of normal
population, then the efficiency of sample mean as compared to median is (in
percentage)

Options:

/8.5

iy

e

. 84.6
2%

65.2
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Which inequality is to be used for the equality sign in Cramer-Rao inequality?

Options:

% Cramer-Schwartz

_Cauchy-Schwartz
2

_— lensen

i % Chebychey
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The reciprocal of the variance is called

Options:
_Fisher's information
1. o

Rao’s information

_ Neyman's information

Kendal's information

e

4 %
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Factorization theorem was due to

Options:

L % Neyman-Pearson

Neyman-Kendal

_— Neyman-Cramer

Fisher-Neyman
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The Maximum Likelihood Estimates are generally

Options:

| % Unbiased and Inconsistent

Unbiased and consistent



- Consistent and Invariant

~ Unbiased and Invariant
4. e
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Sequential probability Ratio Test (SPRT) procedure was given by
Options:
~ Spiegel
1.

Abraham Wald
2 o

Gibbons

4% Ney man
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In SPRT with strength (a, B), the stopping bounds A and B (A > B) in terms of
(@, B)

Options:

A T G e B
T @ 1—o
1

B o
a7 g
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Type-I error is defined as

Options:
_ Accepting Hy when it is true
1 %

Rejecting Hy when it is true
2 o
A~ Rejecting H, when it is false

4% Rejecting H; when it is true

Question Number : 48 Question Id : 79840732203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
DG B3 ENRDO A & DT DO
Options:

. Ho Q2DINE A woiEBorint)

. Ho Da20329 &2 867, 8ot

 Hp 000850836 o S6R) Botody
e

H; Q2208260 o°d SER) Botsdey



Question Number : 49 Question Id : 79840732204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Size of the test is usually denoted by

Options:
o B
i~

1=

2 *

3 W

b
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In testing of hypothesis 1 — £ is known as
Options:

i UMP Critical region

_ Critical region
2 ®



MP Critical region

. Power of the test
4 <
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SPRT terminates with probability
Options:

1.#0

5 & 05

. 0.75
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Likelihood Ratio criterion was introduced by

Options:

. Neyman and Pearson

Neyman and Fisher
_ Wald
3 %

Neyman and Kendal
4 %
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Likelihood ratio (LR) test for testing equality of means of two normal population
(when their variances are equal and unknown) is

Options:

i F-test

t-test
o o

x2 — test
3 #

~ /-test
4 ®
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Run test is used to test the following
Options:

Symmetry



_ Correlation
o #
Randomness

_ Location
4 %
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The best Non-Parametric test for testing location measure is

Options:

, Mann-Whitney’'s U-test
o

~ Median test
2 8

Run test

Sign test
4 ® 6
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In sequential analysis sample size is
Options:

Fixed Constant

1 ®

Unknown Constant

2,
- Large Value

- Random Variable
4.
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Simple Random Sampling is a
Options:

. Mixed sampling

_ Probabilistic sampling
p 4

Proportional sampling
3

Non-Probabilistic sampling
4 ®

Question Number : 57 Question Id : 79840732212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

DOV 05rEy D\ 8 DAETD BTUEAD

Options:
- DB DACID (P

r ﬁnw§5@3 ErAD DAGTD (IR0
2

0 DAGTD (157763500
3%

Q0T DS T DAEFD (1578500
4 ®

Question Number : 58 Question Id : 79840732213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33



In simple random sampling without replacement (SRSWOR) the sample mean is
of population mean

Options:

B Biased estimate

e

Consistent estimate

Unbiased estimate
3 W

None of the given options is correct
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Question Number : 59 Question Id : 79840732214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
Let n; is the sample size from it" stratum, N; is the zt™" stratum population size
andS; isthe it stratum standard deviation. According to Neyman’s allocation,

in stratified random sampling

Options:
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Non-Probability sampling is also known as

Options:

8 Stratified sampling

Systematic sampling
>



Purposive sampling
=i

cluster samplin
4 & piing

Question Number : 60 Question Id : 79840732215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
R0 DS G DAEFD (R A0 A0 YU 90t

Options:

28 DAGTD G

| SATR0AS HACTD A
2.

&@%ﬁ RQPOLE DAETD (5P
3.9

_— OSVLLT &0k DAETD (e

Question Number : 61 Question Id : 79840732216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Analysis of variance was introduced by

Options:
Gauss in 1809

1 =%

 Markov in 1900
> ®

Yates in 1932

g

- R.A_Fisher in 1920

Question Number : 61 Question Id : 79840732216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
DD DFNEID0 DDF DADID

Options:



, = 1803 e5°
. =0°8) o 1300 e5°

D85y 1932 &°
B

R.A. %6 1920 °
4

Question Number : 62 Question Id : 79840732217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In CRD with t treatments and n experimental units, error degrees of freedom is

equal to
Options:
n+t+1
E ]
. n—t—1
n—t+1
S.N
) e
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A Randomized Block Design has
Options:

No classification

1 =%

— One-way Classification
5 b Two —way classification

e Three-way classification
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Who introduced the concept of Relative Efficiency in Design of Experiments?

Options:

P Yates



_ Fisher
> ®

% Tippet

_ Cochran
4 %
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The experimental design that does not satisfy all the three principles of
experimentation is

Options:

. Latin square design

4 Completely randomized design
A

5 Randomized Block design

" None of the given options is correct
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Average Per Capita income of a person is defined as
Options:

Net National Product

Total Population
1 ®

National Income

Total Population

Net Domestic Product

Total Population

Total Population

4 % National Income
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The year of establishing NSSO in India is

Options:

. % 1948

.4 1951

1960
e

1950
4
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What is the Pivotal column of life table?

Options:

1 %
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Crude Death Rate usually lies between

Options:

10 and 30 per thousand
,  8and 30 per thousand

., 6and 30 per thousand



8 15 and 30 per thousand
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The death rate obtained for a segment of a population is called as

Options:

_ Specific death rate
1.9

o Crude death rate

Standardized rate

a Vital index
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The Central Mortality Rate m.. in terms of ¢_is given by the formula

Options:
Ax
1 % 2+qx
Qx
2qx
3 ® 2+qy
2qx
2_
g T
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The Control Limits for C- chart are defined based on this distribution

Options:
Poisson
1.9

o # Normal

2 % Binomial

- Weibull
4, #
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The concept of Control Chart was introduced by

Options:
.« A-Wald



.. Dennis Poisson
2. e

W.A. Shewart
i

Dodge and Roming
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Control limits for X-chart when standards are not given

Options:
UCL=pu"+ Ao’ LCL=pu" — Aa’

1 =%

UCL=X + A,R LCL=X — A,R
2

UCL=pu'+ Ac' LCL=X — A,R

UCL= u' + A,R LCL= p' — A,R
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Options:
UCL=u"+ Ao’ LCL=pu" — Aa’

1 =%

UCL=X + A,R LCL=X — A,R
2

, UCL=p"+ Ac’ LCL=X — A,R

UCL= u' + AR LCL= p' — AR
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Control chart for fraction defective is
Options:

R-Chart
1 ®

X — chart
5 ®

% C-chart

p-chart
g4 &
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The stable average of Central Tendency Measure is
Options:

. = Median

5 o Mean

- » Mode

4 » Geometric Mean
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What is the suitable average to be used if the data is Qualitative?

Options:
; » Mean

> % Mode
- « Median

4, = Harmonic Mean
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If Arithmetic Mean is 18 and Harmonic Mean is 8 then Geometric Mean is

Options:
1.« 12

, % 121
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The Arithmetic Mean and Geometric Mean for two observations are 5 and 4
respectively. Find the two observations?

Options:

1. ® {41 4}

g 159

=z ® {41 8}

Lo (8.2)
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The Mean and Variance of 5 observations is 4.4 and 8.24 respectively. Three
of the five observations are 1, 6 and 2. Find the other two?
Options:

] (8; 5)

> v (9,4)

(10, 3)

o ®

L (67)
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The Mean of 100 observations is 50. What will be the new Mean if 5 is added and
each observation is multiplied by 3?7

Options:
, % 160

» & 165

2w 170
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The average mark of boys in particular subject was 80 and that of girls was 65.

The average mark of all the students was 74. The ratio of boy to girl is

Options:

1 ® 2:3
o W 1:3

= #® 3:1
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The point of intersection of the less than and the more than Ogive corresponds to

the

Options:
Y Median

> % Decile

- » Quartile

4 % Mode
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Question Number : 84 Question Id : 79840732239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The breadth of the rectangle is equal to the length of the class interval in

Options:

o Freaguency polygon
5 o Area Diagram
- Ogive

iR Pictogram
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Frequency density is used in the construction of

Options:

, = Bar diagram



_— Freaquency Polygon

o Histogram

4 = Ogive
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H.A Struges formula for determining class-intervals, the number of classes is

Options:

.« K =3332log, N

_ « K =3323log;, N

. » K =3.222l0g,, N

, v K=3322log,oN
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Options:

.« k' =3332log, N

, « K =3323log;, N

. « K =3.222log,, N

, v K=3322log,oN
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Probability is a measure, it measures

Options:
Y Uncertainity

_ Chaos
2. -

& Length

- Liquids
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Relative Frequency always lies between

Options:
1 ® [_11 1]

o W {U.' 1}

4 ® -3, 3]
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The definition of Emperical Probability was given by

Options:
_James Bernoulli
1. ®

5 ® A.N. Kolmogorou

Al Von Mises



~ Jacob Bernoulli
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The first person to obtain a Quantitative measure of uncertainty is?
Options:

e James Bernoulli

_Jacob Bernoulli
o #

3 ® Pascal

4 = James Boole

Question Number : 90 Question Id : 79840732245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

IS DS DBITETH] S SO TWED 0SB DS

Options:

|, B2y B0y 0



2 eﬁﬁ“;lﬁ}

5533 LATET

Question Number : 91 Question Id : 79840732246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A is an event. If P(A) = 1, then A is called

Options:
_ Null Event
1. *

- % Compound Event

5 o Sure Event

4 = Independent Event
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Find the missing frequency from the following data, given that the Median mark
is 23.

Mark: 0—10 10—20 | 20—30 | 30—40 | 40—50
No.of students: 5 8 ? 6 3

Options:
; % 10.5

= ® 20
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If o is the standard deviation of x;x5x5 ... ..... X, , then the standard deviation of
k —x ik —xk— x5 ... k—x,,is
Options:

1. ad
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If m is the Arithmetic Mean of x4, x5, ..., X,, then the Arithmetic Mean of

s P LR S

Options:
1 ®# M

> #5+m
s # D—m

4 O
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Correct : 1 Wrong: 0.33

The main drawback of arithmatic mean is
Options:

It is affected by small values

8

1.

It is not useful for further mathematical analysis
i It is very much affected by extreme values

It is not based on all observations
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Standard deviation is not independent of change of the

Options:
| % Origin

il Scale

- & Mean

4 » None of the given options is correct

Question Number : 96 Question Id : 79840732251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

B SIB\JIDED S DBODI V(BB S°E

Options:

. Sorewdodua)

5 of 5%95

- mqagmm;

.l 'arﬁa;ﬁ DA DS DBHE S

Question Number : 97 Question Id : 79840732252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The width of each of nine classes in a frequency distribution is 3.5 and the lower
class boundary of the lowest class is 12. Which one of the following is the upper
class boundary of the 9" class?

Options:

1.« 435

2 = 47.5
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Options:
1.« 43.5

. % 47.5
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The data collected in population census are termed as

Options:
| Secondary data

5 ® Tertiary data

o Primary Data

4% Qualitative data
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Correct : 1 Wrong: 0.33

The following is used in collection of population census data

Options:

Questionnaire
ik b

i Schedules

. = Data from journals

- None of the given options is correct
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For comparison of magnitudes of three variables we use

Options:



L % Simple bar diagram

i freaquency curves
. Histogram
3 ®

Multiple bar diagram
4 &

Question Number : 100 Question Id : 79840732255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
SOPED GO THVL CBNE), HDOATEDOV ﬁ&@‘wQéJSJ SH0 853

& DA AN

Options:

s 5“;53“.%5 26 262300

e DY DG
-

L x DR DLW

i 23am0% em6 HerS

Question Number : 101 Question Id : 79840732256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Sum of the deviations of a set of values from their arithmetic mean is equal to

Options:
1 Zero

> % Minimum
% Maximum

=

4 R Mean
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In a sample survey, errors may also arise due to defective frame and faulty

selection of sampling units.

Options:
, = Sampling

Non-samplin
2.V Fng
. = REsponse

4 » Non-response
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Question Number : 103 Question Id : 79840732258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The complete list of sampling units which covers the population is known as
Options:

1 = Sampling fraction

.. Census survey
R

2 % Sample survey

4 « Sampling frame

Question Number : 103 Question Id : 79840732258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
S°E50 DTy 9500 LLLTT SRDY DAAFD G 8 AT [

ea 0T G

Options:
DG 6D (P a?)a‘.}la.u

2T OF) O r-bé&

Question Number : 104 Question Id : 79840732259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A measure of central value which depends on first 50% of observations is

Options:



. Mean

- % Geometric Mean

- « Median

Mode
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 105 Question Id : 79840732260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Consider the following statements:

1. Quadratic Mean is always greater than the Arithmetic Mean.
2. Quartiles are not equidistant from Median in Symmetrical distributions.
3. Mode is the average to be used to find the ideal size foot wear

Which of the above statements is/are correct?

Options:

; » 2and 3 only

5 gl only

= % 3only



4 = land3only
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Question Number : 106 Question Id : 79840732261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

What are the measures which express the spread of observations in

terms of distance between the values of selected observations?

Options:
. Quartile Deviation and Standard Deviation

- Range and Quartile deviation

- » Mean Deviation and Standard Deviation

4 » Range and Mean deviation



Question Number : 106 Question Id : 79840732261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 107 Question Id : 79840732262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
For any two numbers a and b, Standard Deviation is

Options:
la+b|
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 108 Question Id : 79840732263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If Mean << Median or Mean < Mode then the distribution is
Options:

o Positively Skewed

2 Negatively Skewed

- w Symmetric

ol None of the given options is correct
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Correct: 1 Wrong: 0.33
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Question Number : 109 Question Id : 79840732264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

Limits of karl Pearsons’ Coefficient of skewness s, are

Options:

=
5 % Ise| < 2
4 B 1Sk] =1
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Options:

i sk < 3
—_— Ise| <2
2 % sl <1
4 % Isel = 1

Question Number : 110 Question Id : 79840732265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Given @; = 18,Q; = 25, Mode=21 and Mean=18. Find the coefficient of
Skewness.

Options:
, = 0.812

> % -0.714
5 % -0.812

L v 0714



Question Number : 110 Question Id : 79840732265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
, = 0.812

> % 0.714
5 x -0.812

e 714

Question Number : 111 Question Id : 79840732266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
If mean and Geometric mean of 10 observations are 12 and 9 respectively, then
variance is
Options:

% 8

n, P
=z ® b4
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Question Number : 112 Question Id : 79840732267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Pearson Coefficient of Skewness for a distribution is 0.4 and Coefficient of

Variation is 30%. Its Mode is 88. Find the Mean and Median.

Options:

, » 10and 96

> % 96 and 100

_ 96 and 86

4 « 86 and 96
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 113 Question Id : 79840732268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

The empirical relation between Mean deviation (MD) and Standard Deviation (SD)

s

Options:



. »5MD =4sD

» % 4MD=5SD
. x 6MD=55D

4 % 3MD = 25D

Question Number : 113 Question Id : 79840732268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.33
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Options:
;. 5MD = 45D

, % 4MD=5SD
. x 6MD=55D

. % 3MD =25D

Question Number : 114 Question Id : 79840732269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

A Measure of dispersion which does not depend on the unit of measurement of

data

Options:
, = Mean Deviation

- % Standard Deviation

.  Coefficient of variation

4 » Range
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Correct : 1 Wrong: 0.33
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Question Number : 115 Question Id : 79840732270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Kurtosis of Normal distribution in terms of 5, coefficient is

Options:

1%,{?2:::3
2.%,16’2{:3
333.82:0

o B2=3

Question Number : 115 Question Id : 79840732270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 116 Question Id : 79840732271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
Coefficient of determination lies between the limits
Options:

1. ¢ [0.1]

o R (0,1)
3 # (=11)

4 R [_lrl]
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o R (0,1)
3 # (=11)
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Question Number : 117 Question Id : 79840732272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The correlation between Intelligence and Demand is

Options:

, = Negative

., = Positive

S Mon-Sense



4, = Either positive or negative
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Question Number : 118 Question Id : 79840732273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The limits of Rank correlation coefficient are

Options:

[0,1]

o’ [—1,0]

3 [-1.1]

, » [05,0]
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Question Number : 119 Question Id : 79840732274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
For a group of 8 students, the sum of squares of differences in ranks for Telugu
and English marks was found to be 50. What is the value of rank correlation
coefficient?

Options:
, % 0.37

svm D0
. x ~0.37

4 v 0.40
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Correct : 1 Wrong: 0.33
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Options:

, = 0.37

o W -0.40

. % 0.37

4 v 0.40

Question Number : 120 Question Id : 79840732275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



For 20 pairs (x;y;) of observations the correlation coefficient y(x,y) = 0.4 and
X =12,Y = 15,02 = 9,02 = 16. Later it was found that the pair (x=20,y=15)
was wrongly taken as (x=15,y=20). Find the correct value of the correlation
coefficient ?

Options:
, % -0.31

5 061
o o B

, % -0.61
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Options:

, % -0.31

5 D61

5 B3

4 % -0.61

Question Number : 121 Question Id : 79840732276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
It the correlation Coefficient r is more than 6 times the probable error, then

correlation is
Options:

o Significant

, = Positive



- » Negative

4% Not significant
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Question Number : 122 Question Id : 79840732277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If the correlation coefficient ris 0.917 and its Probable Error is 0.034. What
would be the value of n?

Options:
, % 10

>« 8
3.$12

4 %9
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Options:

;. %10

>« 8

7 x 12

4 % 9

Question Number : 123 Question Id : 79840732278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The coefficient of rank correlation of the marks obtained by 10 students in
statistics and accountancy was found to be 0.2. It was later discovered that the
difference in ranks in the two subjects obtained by one of the students was
wrongly taken as 9 instead of 7. Find the correction coefficient of rank
correlation?

Options:

, % 0.394
, % 0.390
- % 0.392

4 0391
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Correct : 1 Wrong: 0.33
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. % 0394

» % 0.390



- % 0.392

4 » 0391

Question Number : 124 Question Id : 79840732279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Logarithmic Straight Line is used as an expression for

Options:

, = Absolute movement

5 % Random movement

5 of Secular movement

4 R Irregular movement
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Correct : 1 Wrong: 0.33
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Question Number : 125 Question Id : 79840732280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which average is used for Smoothening a Time Series?

Options:
_ Pooled average

.~

-  Moving average



Weighted average

4% Simple average
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Correct: 1 Wrong: 0.33

e 63 20,00 Bl Py mqﬁémmm &0037AoBodd

Options:

 Roodans mqasmm
1. % =

WO AN
g ’

A ple) ;Jqs?gmmgn
38

4% calelt] mﬁamm

Question Number : 126 Question Id : 79840732281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

In time series , deseasonalisation is needed for the study of

Options:
;i Cyclic Component

3h Trend Component
- Random Component

~ None of the given options is correct
4. %
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Question Number : 127 Question Id : 79840732282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
The Oscillation movements in a time series with period of Oscillation more than
one yedr are termed on
Options:
.« Trend

Seasonal Variation

Cyclic Variation
3 4

Irregular variations
4 ®
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Question Number : 128 Question Id : 79840732283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Number of equations required to fit Second Degree Parabola Curve?

Options:
1 % 4

o o3

Ll
#
[t
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Question Number : 129 Question Id : 79840732284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Paasche’s price index is based on

Options:
2 Base year quantities

~ Average of base and current year quantities
2. e

- Geometric mean of base and current year quanities



e Current year quantities

Question Number : 129 Question 1d : 79840732284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.33
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Question Number : 130 Question Id : 79840732285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The prices of a commodity in the year 1985 and 1990 were 25 and 30

respectively taking 1985 as base year the average relative price is:

Options:

, % 113.25
» » 110.25

. » 108.79

4 v 109.54
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Options:
, % 113.25



> % 110.25

. » 108.79

4 v 109.54

Question Number : 131 Question Id : 79840732286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Real wages are defined as

Options:
Cost of living index

X 100

;% Money wages

Money wage

5 R Purchasing power

Money wages

» 100

, Cost of living index

Money wages X Price index
4 &
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Question Number : 132 Question Id : 79840732287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The most appropriate average used in the construction of Index numbers is

Options:

. » Arithmetic mean

5  Geometirc Mean
50y Medium

48 Harmonic mean
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Question Number : 133 Question Id : 79840732288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Laspeyre’s Quantity Index Formula with usual notation is
Options:

2 qijPoj % 100
| o Z90jPoj

X qijPoj

X 100
5 ® X qijPij



2 qijPij
&K 100
5 ® X qojPij

Y 4ijPoj
i 2 Qojpij

® 100
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Options:

% 4ijPoj % 100
| « LdojPoj

L 4ijPoj x 100
5 ® Y. qijpij

2 qijPij
ﬁ}( 100
5 ® Y qojpij
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i 2 QojPij

® 100

Question Number : 134 Question Id ;: 79840732289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Marshall-Edge worth Price Index does not obey

Options:
o Time reversal test

. % Unittest

_Factor reversal test
3 ¢

None of the given options is correct
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Question Number : 135 Question Id : 79840732290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Consumer Price index is same as

Options:

N Marshal — Edg worth index
S Laspeyre’s Index

Paasche index

_ Fisher Index
4 %
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Question Number : 136 Question Id : 79840732291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Fisher's Index Number is the only formula among all other formula which satisfies

Options:
Time Reversal Test

.  Factor Reversal Test

_ Circular Test
3 ®

4 % Unit Test
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Question Number : 137 Question 1d : 79840732292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The most suitable average to determine the Cost of Living Index for family budget
method is

Options:

. Arithmetic Mean

., » Geometric Mean

i Weighted Arithmetic Mean



, » Median
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Fisher’s index number is the between laspeyres’ and paasche’s index

numbers

Options:
. Geometric mean

. » Harmonic Mean

- # Arithmetic Mean

4 = Median
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Marshal Edgworth index number lies between

Options:

. % Fisher index and laspeyre's index numbers
a Fisher index and paasche’s index numbers

. Laspeyres and Drobish-Bouley index numbers

Laspeyres and paashe’s index numbers
‘1.-""/#
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A bag contains 6 white and 3 black balls which are identical in shape. One ball is
drawn at random, what is the probability it is white?
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index numhber satisfies circular test

Options:
r
, % Laspeyre’s

. % Paasche’s



- » Fisher’s

il Kelly’s
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The following data relate to the price of rice per kilogram in different years

year 1998 1999 2000 2001 2002 2003 | 2004
Price(Rs): 6 7 7 8 10 14 12

Find the link relative value for the year 2002

Options:
, % 100

> % 114.29
2 ¢ 125

, % 140
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Chain index is defined as
Options:

current vear link relative X preceding vear chain index
100

g

preceding vear link relative
100

previous yvear fixed base index

X100

current yvear link relative

- None of the given options is correct
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Real income is also known as
Options:

e, Deflated income

, = Increased income

- Decreased income

.. Price index
4 ®
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Most widely used model in time series analysis is

Options:
Additive model
1. %

a5 Multiplicative Model

- = Linear Model

4 = Mixed Model
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The graph of the time series is also called

Options:

, = Histogram

5 % Frequency curve
5 off Historigram

_— None of the given options is correct
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Correct : 1 Wrong: 0.33
The correction factor used in the computation of rank correlation when tied
observations are present in the data is?
(‘m” is the number of times an observation is repeated)
Options:
m(m=—1)

1.¢ 12

m*(m—1)

o R 12

m(m—1)

= ® 12
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m(m=—1)

1.« 12

m*(m—1)

o R 12

m(m—1)
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Question Number : 148 Question Id : 79840732303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
In a scatter diagram if all points appear to form a straight line going down ward
from left to right, then the correlation is know as
Options:
. perfect positive correlation
4N

i simple positive correlation

- = No Correction

4% Perfect negative correlation
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To compare the variability in two series we use

Options:

, = Standard deviation

e Coefficient of variation
2 ® Mean Deviation

ool Scatter diagram
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Geometric mean of five observations 2,5,8,0,12 is

Options:
1.+ 0

. % 3.9487

. % 5.5663



, % 9.8648
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